Algebra 2: Converting and Evaluating Logs
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Convert the following exponential equations to logarithmic equations.

Ex 1: 144 = 122. This would convert to: log;, 144 = 2. The base of the log is the base of the
exponential. The answer is always an exponent.
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Ex 2. (Z) = (1—6). This converts to: logi (1—6) = 2. Everything still goes in the same place as it did in

example 1. The base became the base. The exponent is the answer.

Ex 3: 1319847 = x . This converts to: log;3 x = log, 7 . The base of the log is 13, since it's the base of the
exponential. Then the answer is always the exponent, which in this case is log, 7.
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Convert the following Logarithmic Equations to Exponential Equations.

To do this, remember the circle trick we learned. The base of the log turns into the base of the

exponential. The answer to the logarithmic equation is an exponent.
Ex 1: log,05 11025 = 2 ... Converts to 1052 = 11025
Ex 2: logg 4096 = 4 ... Converts to 8* = 4096
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Evaluating Log Expressions.

To evaluate log expressions, you have to think about the expression as an exponential expression.

Ex 1:log, 8 =3 This converts to 2* = 8. This equals 3. Since 2 raised to the 3™ power gives you 8.

35 g 125= 5.
36.log;343=_3
37:logg1 = _O

38.log., 12 = _l_
B9 lop.36= L.
40.log, 16 ==

41.logy729 = 3

A

42.log, 2401 =

43.logi-=__\
gi‘* s
44.logg1=_ O

45.10g100 =__ 2

46.log,1=__ 0O

S
30.log,1024=5 1~ = tv2¢4

Llogs(3)=-1_95" = 5

32.log36(%):—l 7

2

3
33.logg 512 = 3 ¥ °Si1

5
34.10g,;,196=2 14 = 196




	A2 8.2 D1 WS KEY Pg 1 Converting & Evaluating Logs
	A2 8.2 D1 WS KEY Pg 2 Converting & Evaluating Logs

